
"Tfte q{k"

ufqerq]gfrTRqlffi{ {{oK
qGR@ qRffiro-{ +.r{iq{, Tfr qalq-lK"f qfiqs-{

Ticr,irA qqeq, <fq.n-ft

wu'w.dae.raj shahidiv. gor .bd

'$Ksfr Pr

4( stovt\

$ r-a+nrir< {Eql{t-) xiHr{ 5t-{s (-Tv"ll-)Frs-1)/toors/>qqc stfr'.fc lq/>>/r.ooc&s ffilEk-<-r Tfr

ffi$it{q -qf<qer-r< qft+ BftsreT TR qfuq, ;rlrB6 qq<, qfcDf< ngr< flqf<eq Cspf<vl ffi $ Sffif s1ffi

rfi8 \TFfq qfrq rc fr-{ trNs Gfusqr< ftfrrs sr<s 'Er;K w{rfui,rq qffli} ))/>Vqoqs &s gl'RYf {(g ob/o)/qote

&a +6s rqi rco (fr.i-) fi4 qei<I qlfty qsrs,cffi urket qc\5 orB .ro (fr,.r) frr. t{ qv c<sra <frc <I(Elcq"l qR'fu Rfr

frH <ffis -rc6 rq< T<l qmt I

o5 1ffio+r"r<{r<fr{<i<or+frcstT{drs-ft { rRqrco<nem{{<rs-IC-<-{ corqqftoq]T-qrRP<'iflec<+ r

ol r 1ri:fr c<sq sfsrft-< 6q-a qq'4 ?<mFfs M1-{ qEcl s-<(g eii<c<'{ { I

qte rqte.nnRE sltE?
![eRF .tfiD1q-s

$qeqmq ffiass
Tlsr{rtqsE, {lq"ftft
rv[qa oa.cuubo)88b

.rrrsd( )\.o).b)oo.ooo.ob.oo).)b. :u LbQy urk{a oul>Tla z}-z

q{frF qqrw-{tiG \3 sfftnf3

) r q6-<, Tfr n-qtFTlq<-<E !-q{rsrft-{E rq6lr{T, <T(ql-m't cl}<lET, trffi t

\ r {s;etk}-rq-o,1R mmr<"f qfiqs<, 
"flt<<&, il$l-)t)c I

rr r {kD-ws, qr<qFn Ets, TR qr$-Kq qfiqs{, :rlrkd$' Er$]-)t)c I

I r "[kutq-o, 
q.n{n s qdEtq, ft wfr<t qfiqs{, {]nf{<t&, rF-l-)a.)c I

c. r {Rriq-o, otRr$-a-fi, efsg,<M{l-l;t s qRffiEtS,TRqll'IKcl qfiqs-{, 
"Ufl<<I&, 

ul-$l-)t)c I

s 1 $n"rfiru-r{s, ftslfrs "ncmtr re &qT qftq, ur+tFrq""rfr r

q r 6ttRurq-o, tfr qeq1Kt qftq-s-<, {'rcBK r uK q)/))/qor.rr Ee, EIkRK toas(8) qsrs rKcs-{ cqfuto <r+qr

lQsqcqt r

tr I g.KqTs $fuf Gft-cq".rq), E?r<s .tlq.qmE (<s) qEsftB-s fr'{'r.r <"q{, w$t/ q{<s -irq qEtis frx'F <q<'

DtErt:l./C<-{E{r{, {r"tK/ q-6T, nTMql/ Cql-qFm&q', ffffia-a-aeiqlRfr , frqtqtr r

5 I 6fat qrtBB{ qv Fp--l:tt qfuqt<, qntr< 
r

I o r S"rc-qt TR rffil, S"Eqql Tfr qft'q, qfctK qq-<, qf'd< 
r

)) I q{<r6qB qpqqslfiE, O"fqrctnfm$ffif (Ptqt<eq), B{ffiqf TRqfrq, qf&fe qq<, qt6tt t

'fk5lq-r

l

!

ffi.;"
o)888


